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Instructions for Students ( BTN o foru fder)
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Do not open the question booklet until | 1. 3§ W97 YRl &I T8 G 7 @icl 59 Tk Hal 7
you are asked to do so. S|
There are 50 Multiple Choice Questions | 2. W% qf&de & 50 ¥ (MCQ) €1 9+t 50 ¥ et
(MCQ) in the question booklet. All 50 T A 2
questions are mandatory to solve.
Each question carries 1.20 mark for | 3. 9% uva fafua faenfe & faw 1.20 i =
Regular student and 1.50 marks for NC qo ) faenfeRl & fow 1.50 3i &1 2
student.
There are four options for each questions. | 4, ¥ T3 & fo7U IR fashey 21 Tl fasey 3l w1
Fill the correct option in the OMR sheet. IR I T M
Student have to darken only one circle | 5, == %1 &t W ffde Fd gL & Mot (=)
(bubble) indicating the correct answer on 1 3 TR, e § T2 HET 71 3 THIR, T
the OMR Sheet. The circles on the OMR T Tl 1 HIS Fel/ATel afet U W & el HET
are to be darkened properly with black/ T
blue ball pen only.
Fill in all the information (i.e. Roll No. | 6.  uv7 93 J/& &¥7 ¥ gl 371 UH.TR, 3 3R 9T
etc.) or both OMR sheet and question et Sl R Tt SIESHR (A A TR 2fe)
booklet before starting the question e
paper.
Submit OMR to the invigilator after | 7.  Wdten e7afy 8 BM W o7 TH.STR. Wiaeis & Id
completion of examination. Suifcreipl
Student can leave examination hall only | 8. B Wien e7&fd qui BM & U¥=Iq & Wiem h&l
after completion of examination. BIE Tehell &l
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Iso-cost line represent the various
combinations of

(a) Labour and cost
(b) Cost and Profit
(¢c) Cost and Interest
(d) None of the above

Production refers to :
(a) Creation of utility
(b) Making toy

(¢) Exchange value
(d) None of the above

Type of return to scale is :
(a) Increasing return to scale
(b) Constant returns to scale

(¢c) Diminishing returns to scale
(d) All of the above

All the inputs are variable in :
(a) Laws of returns to scale

(b) Agriculture

(¢) Laws of variable proportions
(d) None of the above

Long run production function is

related to :

(a) Law of Demand

(b) Law of Increasing Return
(¢c) Law of Returns to Scale

(d) Elasticity of Demand
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(a) %9 W& N
(b) A TE &H
(c) ITd e =T
(d) S ® ¥ FIE T

Icared 1 e 7-

(a) SYAMTAT *1 oA
(b) Taet T s

(c) fafra o=t

(d) SR | | FIE T

Y99 F 9RTwS H TER o
(a) THM % &gd gfahat
(b) T % fEeR Hfqwa
(c) UM % BEHF Hfdha
(d) S weft

foredl |9 eI AREdRI B B
(a) THM & wfawet & f=m

(b) &fu

(c) ufed-eia 3Tgua 1 o
(d) SR § F HE T

AefehTelie Seqree ho e wwsifea B-
(a) =i <1 =M

(b) sed wfawa 1 fram

(c) UM % ufawel w1 fEw

(d) =T F F

[P.T.O]



SETB

6.

10.

When a firm doubles its inputs and
finds that its output has more than

doubled, this i1s known as :

(a) Increasing returns to scale
(b) Constant returns to scale
(c) Disturbance

(d) Growth

Internal economies are related to :
(a) Marketing economies
(b) Financial economies

(c) Labour economies
(d) All of the above

The shape of TFC curve is :
(a) Horizontal line

(b) Downward sloping

(c) U shaped

(d) Upward sloping

Total cost :
(a) Average cost + Marginal cost

(b) Total Fixed cost + Total variable
cost

(c) Both (a) and (b)
(d) None of the above

Average cost can calculate by :
(a) AFC — AVC

(b) AFC + AVC

(c) MR + AR

(d) AC + MR
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10.

e IS HH I MG 1 N HL oAl ©
3R urdt @ foF TRt Friq Srpom & eiferek @
T E, W T T H T S -

(a) THM =1 gfgue fawa

(b) J9M 1 e ufaher

(c) Fau

(d) Ifs

=afien frcreaaaiati s T 8-
(a) fauom faceraa @

(b) fadira facreraa @

(c) =\ &t facrera 9

(d) S aeft |

TFC =36 &1 ST 2l 8-
(a) &fast @

(b) <= = R A

(c) U smpfa

(d) IR F AR BAH

A AT =

(a) 3T & + HHid AT

(b) Fa fer @ + Fa IRad-Ria ArTa
(©) (a) W (b) THI

(d) S & | FE 7

AIEd N 39 TR 1A L Tehd §-
(a) AFC — AVC

(b) AFC + AVC

(©) MR + AR

(d) AC + MR



11.

12.

13.

14.

15.

Marginal cost curveis _ shaped.
(a) Inverted U

(b) U

(¢) S

(d) L

Average fixed cost is obtained by
dividing :
a Total Cost

Quantity
®) Total Fixed Cost

Quantity
Total Variable Cost
Quantity

(d) None of the above

(©

Total Revenue :

(a) Salary

(b) Profit

(c) Price X Quantity
(d) All of the above

Average Revenue =

ATR
(a) A—Q

) B

(¢) Marginal Revenue
(d) None of the above

Market price is found in :

(a) Short Period Market

(b) Long Period Market

(¢) Very Long Period Market
(d) None of these
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(a) ST 7
(b) 3
(c) T
(d) T

airera feer @ et e farers | rd enft
%l AN
(@) T
EIE]
Fd Teer anTd
A
FA  qRATENT AN

(b)

(c)
HHET
(d) ST H | HIg T

FA H =

(a) o

(b) <9

(c) wHa X A
(d) S T@sh

AEq e =
() A%
AQ
TR
b) —
(b) Q
(c) HHia 3wy

(d) ST H | HIE T

TR FHIAG fhed IR ST o

(a) 3TCUHCA dNR

(b) TTEFIEAA SR
(c) A Srelrel R
(d) T 9 *E &
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16.

17.

18.

19.

20.

The price of a good is determined by :
(a) Supply

(b) Demand

(¢) Government

(d) Both demand and supply

In perfect competition __
(a) AR = MR

(b) AR > MR

(c) AR <MR

(d) None of these

In which market, firm cannot
determine price :

(a) Perfect competition

(b) Monopoly

(c) Oligopoly

(d) All of the above

If a single firm has complete control

over the production, then it is called :
(a) Perfect competition

(b) Duopoly

(c) Monopoly

(d) Imperfect competition

Classification of market according to
time :

(a) Very short period market

(b) Short period market

(c) Very long period market

(d) All of the above
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16.

17.

18.

19.

20.

fepet g 1 ST FeReeh g e Bt 8-
(a) ofd

(b) =

(c) TR

(d) @ = gfd S

qui wfefim
(a) AR = MR =1 &
(b) AR > MR &1
(c) AR <MR & &
(d) =T 9§ =E &

.........

R IR | ®H hiFd MR T8l T Fehdi-
(a) T ol HfcErh aem |

(b) THIfHHR

(c) TSR

(d) ST Tsh

I forelt Tk w1 ScaTeH W Ui fET |
A 3T HeT S 2

(a) ot st

(b) sAERR

(c) THIERR

(d) erqot et

U % STTAR SISIR T R0 Bl 8-

(a) 3fd STUHRIEAA SR

(O EEIEEISIEICIEIN
(c) 3fq STl SR
(d) ST gt



21.

22.

23.

24.

25.

__ 1s absence of competition.
(a) Monopolistic

(b) Monopoly

(c) Oligopoly

(d) Duopoly

is the total value of all final
goods and services produced by the
country in certain year :

(a) National Income
(b) Personal Income
(c) Corporate Income

(d) Foreign Income

Which method is used to calculate
National Income by adding the value
of final goods and services produced
In an economy :

(a) Income Method
(b) Expenditure Method
(¢) Output Method
(d) Value Added Method

Which of the following is not directly
related to economic welfare?

(a) National Income

(b) Health and Education
(¢c) Environmental Quality
(d) Price Stability

Determinant of National Income is :
(a) Natural Resources

(b) Capital

(c) Labour

(d) All of the above
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22.

23.

24.

25.

T ffvea ad ¥ T U g Saifed 99
sifom a&getl 9 FaneT &1 A
3

(a) T 3

(b) Safes e

(c) T ema

(d) focsht =

LT 3 &t MM & feIq i @1l
sifem sgel iR Aasll & Toa &l e &
g fopan e 2-

(a) 3™ fafy

(b) = fafy

(c) careq fafy

(d) o= atda fafa

T W A 2 S A Fear ¥ I €9 §
grafed T8 872
(a) T =

T 3T w5 e B
(a) Hrhfaes FaEH
(b) gt

(c) #™
(d) ST gt
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26.

27.

28.

29.

30.

In very short period, supply will be :
(a) Perfectly elastic

(b) Perfectly inelastic

(c) Elastic

(d) None of these

The equilibrium of a firm occurs

when :

(a) AR = MR

(b) AC=MC

(c) MC =MR

(d) None of these

A monopolist cannot determine :
(a) Demand of commodity

(b) Price of commodity

(¢) Supply of commodity

(d) All of these

Market which has two firms is known

as:
(a) Oligopoly

(b) Monopoly

(¢c) Duopoly

(d) Perfect competition

In case of perfect by inelastic supply

the supply curve will be :
(a) Rising

(b) Vertical

(c) Horizontal

(d) Falling
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afq steusher ¥ gfd gni-
(a) IUM: AERR

(b) quia: TAIER

(c) @R

(d) T T FE T

ot w1 9 99 B B, 6
(a) AR = MR @1 &

(b) AC =MC @ 2

(¢) MC = MR =1 &

(d) =T & =g &

TF THHER e i T8 w5 g 8-
(a) o I |
(b) =] FI F

(c) =% = gfd
(d) S gt

T aeR S < %y foemE €1, S8 wed

(a) SCUYFHR
(b) THIEHR
(c) BAfUPR
(d) o sfeenfan

quta: SrefrereR 9fd 1 feafa & ot a5 S 87
(a) = oM

(b) wFsIEq
(c) &ifast
(d) firan gan



31.

32.

33.

34.

35.

Who is the father of Economics?
(a) Alfred Marshall

(b) Adam smith

(c) Robbins

(d) Samuelson

The relationship between price and

demandis
(a) Direct

(b) Positive

(c) Negative

(d) Not any

Consumer's surplus is also known as

(a) Indifference surplus
(b) Investment

(c) Profit

(d) Buyer's surplus

Factors affecting demand are :
(a) Price

(b) Economic Policy

(c) Both (a) and (b)

(d) None of the above

Business Economics is :
(a) Science

(b) Art

(c) Both science and art

(d) Nothing
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TR sh1 S sh1 58 A9 © o ST STl -
(a) 3T =

(b) fafrm

(c) omw

(d) el = T

T 1 TIferd I ATl e ©-
(a) wI9d

(b) efie ifa

(© (a) @ (b) T

(d) e & ¥ FE T

S e -
(a) o

(b) het

(c) foqm wd e S
(d) F 7=
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36.

37.

38.

39.

40.

Total utility is :
(a) Total of marginal utilities

(b) Entire utility derived from whole

consumption
(c) Both (a) and (b)
(d) Not any

The concept of consumer's surplus

was evolved by :
(a) Alfred Marshall
(b) J.S. Mill

(c) Samuelson

(d) Adam Smith

Effective demand involve the

following feature :

(a) Specific quantity

(b) Desire for commodity
(¢) Willingness to purchase
(d) All of the above

Example of Joint Demand is :
(a) Bike and Petrol

(b) Pen and Ink

(c) Coffee and Sugar

(d) All of the above

Example of durable goods is :
(a) Shoes

(b) Car

(c) Furniture

(d) All of the above
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Fel U -

(a) Hgid STATAST 1 A

(b) FA UM | W F¥YUi IGAT
(© (a) @ (b) THI

(d) =g =&

IUNTHT & AT STFUROT R g/
fasfaa =t T ot?

(a) TShs AR

(b) <. e

(c) HEeTeTHA

(d) wen g

wEqul Wi F fre g e 2
(a) fafdre =N

(b) =& o foq g=a1

(c) T A Fl T

(d) ST g

TR T T ISR B -
(a) IEF TH TR

(b) w9 9 TR

(c) hisht 3T =t

(d) SR weft

foehts aeqall 1 IER 2-
(a) S

(b) &R

(c) AR

(d) SR |ef



41.

42.

43.

44.

45.

Marginal utility is :

(a) Always zero

(b) Increase at a diminishing rate
(c) The utility derived from last unit
(d) All of the above

The law of demand, the law of supply

also assumes other things
(a) Increases
(b) Decreases

(c) Remains same

(d) Rises

Diminishing marginal utility means :

(a) Total utility increases at constant
rate

(b) Total utility decreases

(c) Total utility rises first then falls

(d) Total utility rises at a diminishing

rate

Micro-economics deals with the study
of

(a) Aggregate
(b) Individual
(¢) Macro

(d) Socio

economic entities :

Micro economics is related to :

(a) Principal of inflation

(b) Principle of development

(c) Principle of consumption function
(d) None of the above
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(a) WA A
(b) =l g R ¥ Ifs
(c) sifqd T&E ¥ T ITANT
(d) SWie gt

A 1 fem, gfd @ fem ot o= 9= @l
........ AT B
(a) SEdl BT
(b) = gen
(c) &9 M B
(d) fasfaa g
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(a) T SURT ¥ fer X | gfg

(b) Fe ST # e

(c) T WA ¥ Tgat gfg fR =t g
() T ST wed o = G 9t
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46.

47.

48.

49.

50.

The line which shows the price
demand relationship is called

(a) Demand curve

(b) Indifference curve
(c) Budget line

(d) Price line

Total
developed by

(a) Flux

(b) Marshall
(c) Lipsey
(d) John

expenditure method was

MR is shown as :

ATR
(a) A—Q

TR
b)) —
()Q
AAR

AQ
(d) None of the above

(©

Opportunity cost is the :

(a) Next best alternative available
(b) Next best alternative sacrificed
(c) Next best alternative produced

(d) Next best alternative chosen

The state of technology in law of
variable proportions is

(a) Increasing with output
(b) Decreasing with output
(¢) Constant
(d) Negative
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B.Com. (Semester-I) Examination, 2024-25
(For Regular & NC)

EAFM
Paper Code : EFM-51T-1001

Business Economics

Section — B (wug — «)

GENERAL INSTRUCTIONS (@ fd9T)

(1) No supplementary answer-book will be given to any candidate. Hence the
candidate should write the answer precisely in the Main answer-book only.
fordt off wanell =1 % SW-gfaw &I @ SR sta: W o =fed foh 9 g
S-SR H & T T I e

(1) In Section - B there are 3 questions the candidates are required to attempt
all questions, each question carries 20 marks for regular students and 25 marks
for non-collegiate students.

TUe-o H el 3 T ¢ qenel w1 gt g e €1 ek wed i whenedf & faw 20 i w1
Td Ut wlendd % faw 25 37 @ 2

(111) Make sure that your question booklet has all the 50 questions in Section - A and
3 questions in Section-B. Defection Booklet can be changed within 10 minutes.
- gfeeht H Gt Wue-21 § 50 W9 Ud Wue-d & 3 W9 DU T, 3! S shiferq) Ffequl gieen
1 10 fiFe ¥ aeaman <1 Hehar 2|

(iv) Ifthereis any difference in English and Hindi version, the English version will be

considered authentic.

Ife a7 & fe< wd S T H FIE A< 8 a1 TS T S g TE 9 S|
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Section — B (w@ug — 9)

1. What is business economics? Discuss the nature and scope of business
economics. 20/25
EHIeh ST 41 87 SHOeh ST i Tehi T &5 i fefel=mT Hitsy

Or/3rgdat
Write notes on the following : 10+ 10/12.5+12.5

(a) Determinants of supply
(b) Characteristics of Utility
frefafaa w femfrat fafen-

(a) Tfd & freaie a@

(b) ST Fi eI

2. What do you understand by returns to scale? Discuss its types. 20/25
A & Ufdhe T MY T T T2 SR TRRI S foe= wHifer
Or/3rgat
Discuss the various concepts of cost. 20/25
TG okt fafs=1 sraemons® =t foa=m wifsq)
3. How price and output are determined under perfect competition? Discuss. 20/25
ol SqfTaT & eT=id HiHd U Scured 9 fuifa faean S 22 faa=m wifu)
Or/3gat
Write notes on the following : 10+ 10/12.5+12.5

(a) Advantages and Disadvantages of Monopoly.

(b) Daifficulties in the measurement of National Income.

frefafea W fewott fafae-
(a) THIMHHR & o9 Td i
(b) T AT wt TOAN H HiSTEar
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